Unit 2 Lesson 8 - CPCTC kc‘j

Corresponding Parts of Congruent Triangles are Congruent (CPCTC) — This Justification allows you to prove additional
parts of congruent triangles are congruen{ AFTER you have shown the triangles are congruent. In the proof, you use a
combination of 3 pairs of congruent segments or angles to prove two triangles are congruent. Once you have shown the
#ngles are congruent using one of the 5 shortcuts (SSS, SAS, ASA, AAS, HL), you can now say that other corresponding
':‘l‘-lutching) parts of the triangles are congruent,/ CPCTC must FOLLOW the congruent triangles statement.
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2. Given: £FHY and £KGP are right angles
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3.Glven: YK || PF; FG = KH

LPGH and YHG are right angles
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4. Given: V is thé midpoint of RS
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Prove: ZRWV = £SWV
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